

### THE BOARD OF DIRECTORS

PATRICIA ADAMS Chair and President ANN CAVOUKIAN Executive Director, PBDI, Ryerson University ANDREW COYNE Columnist, National Post IAN GRAY President, St. Lawrence Starch Co. Ltd. BRUCE PARDY Professor of Law, Queen's University ANDREW ROMAN Lawyer

MAX ALLEN Producer, CBC Radio DAVID CAYLEY Writer and Broadcaster GLENN FOX Economist, University of Guelph CLIFFORD ORWIN Professor of Political Science, University of Toroito GAIL REGAN President, Cara Holdings Ltd. GEORGE TOMKO Expert-in-Residence in IPSI, University of Toronto

June 10, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge Street Toronto, ON M4P 1E4

Dear Ms. Walli,

### RE: EB-2017-0049: Hydro One 2018-2022 Distribution Rates Application Energy Probe Cost Claim

Attached is the cost claim of Energy Probe Research Foundation. Copies of the claim have been posted on RESS, delivered in hard copy and by e-mail to the OEB, and by e-mail to the applicant.

If you require any additional information regarding this claim, do not hesitate to contact me.

Respectfully submitted on behalf of Energy Probe.

Tom Ladanyi Consultant Representing Energy Probe

416 423-3685 tom.ladanyi@rogers.com

Energy Probe Research Foundation 225 BRUNSWICK AVE., TORONTO, ONTARIO M5S 2M6

Phone: (416) 964-9223 Fax: (416) 964-8239 E-mail: EnergyProbe@nextcity.com Internet: www.EnergyProbe.org



### Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

#### Instructions

- Required data input is indicated by yellow-shaded fields. Formulas are embedded in the form to assist with calculations.

- All claims must be in Canadian dollars. If applicable, state exchange rate and country of initial currency.

Rate:

- A separate "Detail of Fees and Disbursements Being Claimed" (comprising a "Statement of Fees Being Claimed" and a "Statement of Disbursements Being Claimed") is required for each lawyer, analyst/consultant and articling student/paralegal.

Country:

However, only one "Summary of Fees and Disbursements" covering the whole of the party's cost claim should be provided.

- The cost claim must be supported by a completed Affidavit signed by a representative of the party.

- A CV for each consultant/analyst must be attached unless provided to the Board as prescribed on the Cost Award Tariff.

### Except as provided in section 7.03 of the Practice Direction on Cost Awards, itemized receipts must be provided.

File # EB-	Process: Hydro One Distribution 2018 - 2022 Rates					
Party:	Energy Probe Research Founda	tion	Affiant's Name: Thomas Ladany	i		
HST Number	: 10730 5146 RT0001		HST Rate Ontario:	6.50%		
	Full Registrant		Qualifying Non-Profit			
	Unregistered		Tax Exempt			
	Other					

Affidavit

l,	Thomas Ladanyi	, of the City/Town of	Toronto			
in the Province/State of	of Ontario		, swear or affirm that:			

1. I am a representative of the above-noted party (the "Party") and as such have knowledge of the matters attested to herein.

2. I have examined all of the documentation in support of this cost claim, including the attached "Summary of Fees and

Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed".

3. The attached "Summary of Fees and Disbursements Being Claimed", "Statement(s) of Fees Being Claimed" and "Statement(s) of Disbursements Being Claimed" include only costs incurred and time spent directly for the purposes of the Party's participation in the Ontario Energy Board process referred to above.

4. This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in sections 6.05 and 6.09 of the Board's Practice Direction on Cost Awards.

Signature of Affiant

Sworn or affirmed before me at	Т	oronto		
in the Province/State of	Ontario	, on	June 9, 2019	
AN OSERVIN			(date)	

Commissioner for taking Affidavits



### Affidavit and Summary of Fees and Disbursements

File # EB-	EB-2017-0049			Process:	Hydro One [	o One Distribution 2018 - 2022 Rates				
Party:	Energy Probe Resea	dation	о К.,							
		Summar	y of Fe	es and Disburse	ments Being	g Claimed				
Legal/con	sultant/other fees		\$	86,475.00		1		·*•.		
Disbursen	nents		\$	_						
HST			\$	5,620.88			2			
Total Cost Claim			\$	92,095.88	_					
			í.							
				Payment Inform	nation					
	Make cheque pay	able to:	Energ	gy Probe Resea	arch Found	ation				
Send payment to this address:			225 E	Brunswick Aven						
			Toror	nto, Ontario						

M5S 2M6

Attention: Frank Cianflone

Page 2 of 2



Detail of Fees and Disbursements Being Claimed

File # EB			Process:	Hy	dro One Dis	trib	ution 2018	- 20	22 Rates
Party: Energy Probe Research Foundation	on		Service P	rov	ider Name:	То	m Ladanyi	Z	
SERVICE PROVIDER TYPE	(check one )	Year Called to Bar				Completed Years Practising/Years of Relevant Experience			
Legal Counsel							4	5	
Articling Student/Paralegal							<sup>н</sup> ж. е		
Consultant	<b>_</b>						Hourly Rate:		\$330
Analyst									
For Consultant/Analyst:	CV attac	ched			HST Rate Cl	narg	<b>ed</b> ( <i>enter</i> % ):		6.5%
	CV provi	ided	within previc	ous 2	24 months				
6	atement o	of Fa	oos Boing		imed				
	Hours		urly Rate	-	Subtotal	<u> </u>	HST		Total
Pre-hearing Conference	TIOUIS	110	uny nate	-	Subtotal		131		TOLAT
Preparation		\$	330.00	\$	_	\$		\$	
Attendance	-	\$	330.00	\$		\$		\$	_
Technical Conference		Ŷ	550.00					Ŷ	
Preparation	4.00	\$	330.00	\$	1,320.00	\$	85.80	\$	1,405.80
Attendance	23.00	\$	330.00	\$	7,590.00	\$	493.35	\$	8,083.35
Interrogatories	20.00	<b>Y</b>	330.00	<b>Y</b>	7,550.00	1 Y	+55.55	Ŷ	0,005.55
Preparation	33.00	\$	330.00	\$	10,890.00	\$	707.85	\$	11,597.85
Responses		\$	330.00	\$	-	\$	-	\$	-
Issues Conference				Ť		Ť		Ŷ	
Preparation		\$	330.00	\$	-	\$	_	\$	<u> </u>
Attendance		\$	330.00	\$	_	\$	_	\$	-
ADR - Settlement Conference								r	
Preparation		\$	330.00	\$	_	\$	-	\$	-
Attendance		\$	330.00	\$	_	\$		\$	-
Proposal Preparation		\$	330.00	\$	-	\$	-	\$	-
Argument					an a				
Preparation	12.00	\$	330.00	\$	3,960.00	\$	257.40	\$	4,217.40
Oral Hearing									
Preparation	30.00	\$	330.00	\$	9,900.00	\$	643.50	\$	10,543.50
Attendance	74.00	\$	330.00	\$	24,420.00	\$	1,587.30	\$	26,007.30
Other Conferences									
Preparation		\$	330.00	\$	-	\$	-	\$	-
Attendance		\$	330.00	\$	-	\$	-	\$	-
Case Management	4.00	\$	170.00	\$	680.00	\$	44.20	\$	724.20
TOTAL SERVICE PROVIDER FEES				\$	58,760.00	\$	3,819.40	\$	62,579.40



Detail of Fees and Disbursements Being Claimed

File # EBEB-2017-0049			Process:	Нус	dro One Dis	trib	ution 2018	- 20	22 Rates
Party: Energy Probe Research Foundati	ion		Service P	rovi	ider Name:	Bra	idy Yauch	2	
SERVICE PROVIDER TYPE	(check one )	Yea	r Called to Bar			Con	npleted Years of Relevant		
Legal Counsel							1	0	
Articling Student/Paralegal									
Consultant	~						Hourly Rate:		\$230
Analyst									
For Consultant/Analyst:	CV attac	hed			HST Rate Cl	narge	ed (enter % ):		6.5%
	_	ided	within previc	us 2					
S	tatement o	of Ec	os Boing	Cla	imod				
3	Hours		urly Rate	-	Subtotal	<b> </b>	HST		Total
Pre-hearing Conference	mours	110	uny nate	· · ·	Subtotal		1151		TOtal
Preparation		\$	230.00	\$	-	\$	· _ ·	\$	_
Attendance		\$	230.00	\$		\$	_	\$	
Technical Conference		2	200.00	Ý					
Preparation	7.00	\$	230.00	\$	1,610.00	\$	104.65	\$	1,714.65
Attendance	2.00	\$	230.00	\$	460.00	\$	29.90	\$	489.90
Interrogatories									
Preparation	40.50	\$	230.00	\$	9,315.00	\$	605.48	\$	9,920.48
Responses		\$	230.00	\$	-	\$		\$	
Issues Conference									
Preparation		\$	230.00	\$	-	\$		\$	-
Attendance	5. 	\$	230.00	\$	-	\$	-	\$	-
ADR - Settlement Conference	1			.0.	15				
Preparation		\$	230.00	\$	-	\$	-	\$	-
Attendance		\$	230.00	\$	-	\$	-	\$	-
Proposal Preparation	1.00	\$	230.00	\$	230.00	\$	14.95	\$	244.95
Argument							3	<u> </u>	
Preparation	40.00	\$	230.00	\$	9,200.00	\$	598.00	\$	9,798.00
Oral Hearing						-			
Preparation	24.00		230.00	\$	5,520.00	\$	358.80	\$	5,878.80
Attendance Other Conferences	6.00	\$	230.00	\$	1,380.00	\$	89.70	\$	1,469.70
		7	220.00				a 1971 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972 - 1972		
Preparation Attendance		\$	230.00	\$	-	\$		\$	-
Case Management		\$	230.00	\$	-	\$	-	\$	-
				\$	-	\$	-	\$	-
TOTAL SERVICE PROVIDER FEES				\$	27,715.00	\$	1,801.48	\$	29,516.48

### TL Energy Regulatory Consultants Inc.

Date: 9 June 2019

To: Frank Cianflone Energy Probe Research Foundation 225 Brunswick Ave. Toronto, ON M5S 2M6 Invoice No: EPRF 2019-04

From: Tom Ladanyi TL Energy Regulatory Consultants Inc. 41 Divadale Drive Toronto, ON M4G 2N7 Phone: 416-423-3685 E-Mail: tom.ladanyi@rogers.com

OEB Docket: EB-2017-0049 Hydro One 2018-2022 Distribution Rates

Date	Description of Work	Hours	Rate	Amount
14-Sep-17	Evidence Review	2	\$ 330.00	\$ 660.00
15-Sep-17	Issues Review	1	\$ 330.00	\$ 330.00
18-Sep-17	Evidence Review	2	\$ 330.00	\$ 660.00
12-Oct-17	Evidence Review	2	\$ 330.00	\$ 660.00
05-Dec-17	Interrogatories Preparation	2	\$ 330.00	\$ 660.00
07-Dec-17	Presentation Day Technical Conference	2	\$ 330.00	\$ 660.00
21-Dec-17	Interrogatories Preparation	2	\$ 330.00	\$ 660.00
02-Jan-18	Interrogatories Preparation	4	\$ 330.00	\$ 1,320.00
03-Jan-18	Interrogatories Preparation	5	\$ 330.00	\$ 1,650.00
04-Jan-18	Interrogatories Preparation	4	\$ 330.00	\$ 1,320.00
05-Jan-18	Interrogatories Preparation	4	\$ 330.00	\$ 1,320.00
07-Jan-18	Interrogatories Preparation	3	\$ 330.00	\$ 990.00
08-Jan-18	Interrogatories Preparation	1	\$ 330.00	\$ 330.00
09-Jan-18	Interrogatories Preparation	1	\$ 330.00	\$ 330.00
23-Jan-18	Technical Conference Preparation	2	\$ 330.00	\$ 660.00
28-Feb-18	Technical Conference Preparation	2	\$ 330.00	\$ 660.00
01-Mar-18	Technical Conference	7	\$ 330.00	\$ 2,310.0
02-Mar-18	Technical Conference	7	\$ 330.00	\$ 2,310.0
05-Mar-18	Technical Conference	7	\$ 330.00	\$ 2,310.0
24-May-18	Hearing Preparation	2	\$ 330.00	\$ 660.00
04-Jun-18	Hearing Preparation	2	\$ 330.00	\$ 660.0
05-Jun-18	Hearing Preparation	2	\$ 330.00	\$ 660.00
06-Jun-18	Hearing Preparation	4	\$ 330.00	\$ 1,320.00
07-Jun-18	Compendium Preparation	4	\$ 330.00	\$ 1,320.00
08-Jun-18	Compendium Preparation	2	\$ 330.00	\$ 660.00
10-Jun-18	Preparation for Hearing Day 1	3	\$ 330.00	\$ 990.00
11-Jun-18	Hearing Day 1	6	\$ 330.00	\$ 1,980.00
11-Jun-18	Preparation for Hearing Day 2	2	\$ 330.00	\$ 660.00
12-Jun-18	Hearing Day 2	5	\$ 330.00	\$ 1,650.00
13-Jun-18	Preparation for Hearing Day 3	1	\$ 330.00	\$ 330.00
14-Jun-18	Hearing Day 3	7	\$ 330.00	\$ 2,310.00
14-Jun-18	Preparation for Hearing Day 4	1	\$ 330.00	\$ 330.00
15-Jun-18	Hearing Day 4	7	\$ 330.00	\$ 2,310.00
17-Jun-18	Preparation for Hearing Day 5	2	\$ 330.00	\$ 660.00
	Hearing Day 5	7	\$ 330.00	\$ 2,310.00
18-Jun-18	Preparation for Hearing Day 6	1	\$ 330.00	\$ 330.00
*********	Hearing Day 6	7	\$ 330.00	\$ 2,310.00
	Preparation for Hearing Day 7	1	\$ 330.00	\$ 330.00

## TL Energy Regulatory Consultants Inc.

21-Jun-18	Hearing Day 7	7	\$	330.00	\$ 2,310.00
21-Jun-18	Preparation for Hearing Day 8	1	\$	330.00	\$ 330.00
22-Jun-18	Hearing Day 8	7	\$	330.00	\$ 2,310.00
24-Jun-18	Preparation for Hearing Day 9	2	\$	330.00	\$ 660.00
25-Jun-18	Hearing Day 9	7	\$	330.00	\$ 2,310.0
26-Jun-18	Hearing Day 10	7	\$	330.00	\$ 2,310.0
28-Jun-18	Hearing Day 11	7	\$	330.00	\$ 2,310.0
20-Jul-18	Argument Preparation	1	\$	330.00	\$ 330.0
31-Jul-18	Argument Preparation	1	\$	330.00	\$ 330.0
01-Aug-18	Argument Preparation	5	\$	330.00	\$ 1,650.0
02-Aug-18	Argument Preparation	1	\$	330.00	\$ 330.0
03-Aug-18	Argument Preparation	1	\$	330.00	\$ 330.0
04-Aug-18	Argument Preparation	1	\$	330.00	\$ 330.0
05-Aug-18	Argument Preparation	1	\$	330.00	\$ 330.0
08-Aug-18	Argument Preparation	1	\$	330.00	\$ 330.0
	Case Management	4	\$	170.00	\$ 680.0
			S	Subtotal:	\$ 58,760.0
	GST/HST No: 77848 0921 RT0001		Н	ST 13%:	\$ 7,638.8
ake cheque pa	yable to:			Total	\$ 66,398.8

TL Energy Regulatory Consultants Inc.

# **Brady Yauch**

67A Auburn Avenue Toronto ON M6H 2L8 GST/HST 802822023 RT0001

Bill To:

Energy Probe Research Foundation 225 Brunswick Avenue Toronto, Ontario, M5S 2M6 For:

Intervenor services for EB-2017-0049, Hydro One Distribution rates 2018-2022

Date	DESCRIPTION	Time
October 10, 2017	Reviewed evidence and updated evidence	3 Hours
October 11, 2017	Reviewed evidence and updated evidence	3 hours
December 6, 2017	Prepared notes for technical conference	1 hour
December 7, 2017	Attended presentation day technical conference	2 hours
December 18, 2017	Reviewed evidence and wrote interrogatories.	5 hours
December 19, 2017	Reviewed evidence and wrote interrogatories.	5 hours
December 20, 2017	Reviewed evidence and wrote interrogatories.	5 hours
December 21, 2017	Reviewed evidence and wrote interrogatories.	5 hours
December 27, 2017	Reviewed updated evidence and updated interrogatories	2.5 hours
January 10, 2018	Compiled, edited and updated interrogatories from other consultant.	3 hours
February 23, 2018	Reviewed interrogatories and prepared for technical conference	3 hours
February 26, 2018	Reviewed interrogatories and prepared for technical conference	4 hours
February 27, 2018	Reviewed interrogatories and prepared for technical conference	4 hours
June 4, 2018	Prepared materials for oral hearing	4 hours
June 5, 2018	Prepared materials for oral hearing	4 hours
June 6, 2018	Prepared materials for oral hearing	4 hours

DATE: 6/9/19

June 7, 2018	Prepared materials for oral hearing	4 hours
June 8, 2018	Prepared materials for oral hearing	4 hours
June 23, 2018	Prepared for cross examination of panel 7	4 hours
June 24, 2018	Attended oral hearing and cross examined panel 7	6 hours
July 20- August 8	Wrote and edited final argument	40 hours
2		
		1
Hours		
Rate	X \$230	
+HST		
Total		